
 

 

REASONING QUIZ 

Q.1.  If 72 x 96 = 6927, 58 x 87 = 7885, then 79 x 86 = ? 

(A) 7689 

(B)  8976 

(C)  6897 

(D) 6978 

Q.2.  3,5, 9,17,33 

(A) 44 

(B) 65 

(C) 64 

(D) 49 

Q.3. Look at this series: 36, 34, 30, 28, 24, ... What number should 

come next? 

(A) 20 

(B) 22 

(C) 23 

(D) 26 



 

 

Q.4.  If 11 (170)16, 11(203)19, then value of 17(?)18 will be – 

(A) 200 

(B) 300 

(C) 400 

(D) None of these 

Q.5. 6,5,24,25,144,(?) 

(A) 155 

(B) 160 

(C) 170 

(D) 175 

Q.6. Look at this series: 22, 21, 23, 22, 24, 23, ... What number 

should come next? 

(A) 22 

(B) 24 

(C) 25 

(D) 26 

Q.7. a= 12 (390) 8, b = 7 (134) 5, c = 5 (?) 12 



 

 

(A) 299 

(B) 289 

(C) 279 

(D) 280 

Q.8. Look at this series: 7, 10, 8, 11, 9, 12, ... What number should 

come next? 

(A) 7 

(B) 10 

(C) 12 

(D) 13 

Q.9. If 13 x 12 = 651 & 41 x 23 = 448, then, 24 x 22 =? 

(A) 504 

(B) 46 

(C) 524 

(D) 924 

Q.10. Look at this series: 53, 53, 40, 40, 27, 27, ... What number 

should come next? 



 

 

(A) 12 

(B) 14 

(C) 27 

(D) 53 

Direction (11-15): In each of the following number series, two 

terms have been put within brackets. Mark your answer as 

 

(A) if both the bracketed terms are right; 

 

(B) if the first bracketed term is right and second is wrong; 

 

(C) if the first bracketed term is wrong and second is right; and  

 

(D) if both the bracketed terms are wrong. 

 

Q.11. 4, 6, 10, (12), 16, (14), 22 

 

Q.12. 3, 10, 29, (66), (127), 218 

 

Q.13. 2, 3, (6), 11, 18, (30), 38 

Q.14. (2), 5, (12), 25, 41, 61 

 

Q.15. 4, 7, (9), 10, 13, 15, (16), 19 



 

 

 

ANSWERS 

1.  C 

2.  B 

3.  B 

4.  B 

5.  D 

6.  C 

7.  C 

8.  B 

9.  D 

10. B 

11. B 

12. A 

13. B 

14. D 

15. A 

 


